
I N S T A L L A T I O N I N S T R U C T I O N S 

S u r f a c e M o u n t 
S h o w n 

I N S T A L L A T I O N O F SHELF SUPPORTS, SHELVES,  
AND HOLE PLUGS. 

N o t e : C a r e f u l l y r e v i e w t h e s h e l f l o c a t i o n d e s i r e d . 
T h e h o l e p l u g s a r e d i f f i c u l t t o r e m o v e o n c e 
i n s e r t e d . 
1 . S e l e c t w h e r e y o u w a n t t h e s h e l v e s t o b e 

p l a c e d . 
2 . I n s e r t t w o ( 2 ) s h e l f supports at each end of the 

s h e l f l o c a t i o n . ( F i g u r e 1 ) 
3 . S e t s h e l v e s i n p l a c e o n t h e s h e l f supports,  

p r e s s i n g d o w n o n s h e l f t o l o c k i n p l a c e . 
( F i g . 2 ) 

4 . R e m o v e h o l e p l u g s f r o m h a r d w a r e b a g 
a n d p l a c e i n r e m a i n i n g h o l e s . ( F i g u r e 2 ) 

M o d e l : 
S368184OVWH- 18” Beveled Edge Mirror (WH)
S368244OVWH- 24” Beveled Edge Mirror (WH)

R e c e s s e d o r S u r f a c e M o u n t e d O v a l B a t h C a b i n e t 
W A L L O P E N I N G O V E R A L L S I Z E 

W H D W H 
1 4 1 / 4 1 8 4 2 1 1/4 3 1 1 / 4 

T h i s M e d i c i n e C a b i n e t w a s d e s i g n e d t o b e e i t h e r R e c e s s e d o r 
S u r f a c e M o u n t e d . P l e a s e d e c i d e w h i c h v e r s i o n y o u w o u l d l i k e t o u s e 
a n d i n s t a l l a c c o r d i n g t o t h a t s t y l e . 

N o t e : 
C a r e f u l l y r e m o v e a l l p a c k i n g m a t e r i a l f r o m t h e c a r t o n . P l a c e D o o r , G l a s s S h e l v e s , a n d S i d e M i r r o r s 
i n a s a f e a r e a t o p r e v e n t a n y a c c i d e n t s . 

P L E A S E : R e a d t h e i n s t r u c t i o n s b e f o r e b e g i n n i n g t h e i n s t a l l a t i o n p r o c e s s . 

L i s t o f R e q u i r e d T o o l s : 
1 . S a f e t y G l a s s e s 
2 . M e a s u r i n g T a p e 
3 . P e n c i l 
4 . L e v e l 
5 . S c r e w d r i v e r ( P h i l l i p s h e a d ) 
6 . W r e n c h ( 1 1 / 3 2 " o r 9 m m ) 
7 . W a l l S t u d L o c a t o r 

M I R R O R C A R E 
U s e o n l y c l e a n w a r m w a t e r a n d a c l e a n , 
s o f t , l i n t - f r e e c l o t h . 
D O N O T U S E c l e a n e r s t h a t c o n t a i n 
s o l u t i o n s o f a m m o n i a , v i n e g a r , o r c h l o r i n e . 
D O N O T U S E p o w e r e d c l e a n s e r s o r s t e e l 
w o o l . 

N e v e r s p r a y c l e a n i n g a g e n t s d i r e c t l y o n t h e 
m i r r o r , e s p e c i a l l y o n e x p o s e d e d g e s a n d 
m i r r o r b a c k i n g . A p p l y c l e a n e r t o s o f t c l o t h 
a n d w i p e m i r r o r . D r y m i r r o r t h o r o u g h l y . 
K e e p m i r r o r d r y . A w e l l v e n t i l a t e d b a t hroom 
i s i m p o r t a n t . 

F i g u r e 1 F i g u r e 2 

1 4 1 / 4 2 4 4 2 4 3 5 7 / 8 

Size 

18” 
24” 

72-331-01E

gently 

 ONE YEAR LIMITED WARRANTY 
Broan-NuTone Storage Solutions warrants to the original consumer purchaser of its products that 
such products will be free from defects in materials or workmanship for a period of one (1) year  
from the date of original purchase. THERE ARE NO OTHER WARRANTIES, EXPRESS  OR 
IMPLIED, INCLUDING, BUT NOT LIMITED TO, IMPLIED WARRANTIES OF MERCHANTABILITY 
OR FITNESS FOR A PARTICULAR PURPOSE.  
During this one year period, Broan-NuTone Storage Solutions will, at its option, repair or replace, 
without charge, any product or part which is found to be defective under normal use and service. 
This warranty does not cover (a) normal maintenance and service or (b) any products or parts which 
have been subject to misuse, negligence, accident, improper maintenance or repair (other than by 
Broan-NuTone Storage Solutions), faulty installation or installation contrary to recommended 
installation instructions.  Labor to remove and replace products is not covered. 
The duration of any implied warranty is limited to the one year period as specified for the express 
warranty. Some states do not allow limitation on how long an implied warranty lasts, so the above 
limitation may not apply to you. 
BROAN-NUTONE STORAGE SOLUTIONS” OBLIGATION TO REPAIR OR REPLACE, AT 
BROAN-NUTONE STORAGE SOLUTIONS’ OPTION, SHALL BE THE PURCHASER’S SOLE 
AND EXCLUSIVE REMEDY UNDER THIS WARRANTY. BROAN-NUTONE STORAGE 
SOLUTIONS SHALL NOT BE LIABLE FOR INCIDENTAL, CONSEQUENTIAL OR SPECIAL 
DAMAGES ARISING OUT OF OR IN CONNECTION WITH PRODUCT USE OR  
PERFORMANCE. Some states do not allow the exclusion or limitation of incidental or consequential 
damages, so the above limitation or exclusion may not apply to you. This warranty gives you 
specific legal rights, and you may also have other rights, which vary from state to state. This 
warranty supersedes all prior warranties. 
 
Date of Installation 
_______________________________________________________________________________
____________________________________________________________ 
Model No and Product Description  
_______________________________________________________________________________
_______________________________________________ 

 

                                          IF YOU NEED ASSISTANCE OR SERVICE- CONTACT
Broan-NuTone Storage Solutions, 501 S. Wilhite Cleburne TX 76031 www.nutone.com (1-800-325-8351)



Surface Mount Installation Recessed Mount Installation
Refer to the “Assembly Diagram” attached to find the “[Item Numbers]” referred in the following instructions.  
Before Installation, determine which side the door will open on, left or right.  
1. Preparation for the Installation of the Body  

Determine desired location of cabinet on wall. Mark the wall to show wall opening size (see Figure 1).  
Note: Height should be a MINIMUM of 7” above faucet. This will allow a minimum of 1” clearance when door opens.  
Cut wall opening, being careful not to damage the surrounding wall surface. CAUTION: Wall studs, plumbing, or 
electrical lines that interfere, must be removed or relocated BEFORE installation. Insert framing to support all plaster 
board edges (if required).

2. Install the Flange Bracket 
Attach Flange Bracket according to Figure 3 using screw #6-32 x 3/16” [Item Number 8], Qty. 2 screws (top and bottom). 

3. Install the Body 
Prepare the mounting screws by placing the screws into the clear plastic base (see Figure 2). Position the body inside the 
opening. Ensure the cabinet is plumb and level. If necessary, use a carpenter’s level and shim corners of cabinet. Secure to 
wall the studs through four (4) mounting holes inside the cabinet, using the screws provided inside the assembly bag (see 
Figure 4). NOTE: When mounting cabinet, the side with the Bracket should be screwed in first. 
DO NOT OVER TIGHTEN THE MOUNTING SCREWS. 

4. Install the Screw Covers 
Snap the screw covers over the screw bases (see Figure 5). 

5. Install the Door.
IMPORTANT NOTE: Secure door while fastening screws on the bracket. Attach the Door with the screws provided.  
Screw 8-32 x ‘1/4" Phillips Head. [Item Number 1] 

6. Install the Shelf Supports, Shelves, and Hole Plugs. See page 4 for installation instructions. 

Refer to the “Assembly Diagram” attached to find the “[Item Numbers]” referred in the following instructions.  
Before Installation, determine which side the door will open on, left or right.  
1. Determine where you want your cabinet to be installed and which way the door to swing open. Identify where the wall stud is    
          inside the wall and mark it.  Use Wall Anchors [Item Number 14] on any screws that don’t screw directly into the wall stud.
2.   Install the Bottom Mounting Bracket.  Line up the bottom bracket at the desired location. With the screws provided                      
          (1 ‘3/4 No.8 PPH) [Item Number 6], attach the bottom bracket to the wall stud that you have marked.   
           Level the bracket (See Figure 1) and attach the opposite end of the bracket to the wall using the wall anchor provided.
           Note:  Bracket should be a MINIMUM of 7” above faucet; this will provide a 1” clearance. 
3. Before you install the Top Mounting Bracket 
          Lift the cabinet body into position on the bottom bracket by aligning both the bracket holes and the body mount holes.
           Place the Top Bracket on the top of the body and carefully mark the appropriate position of the Top Bracket. Make sure
           that the body hole is flush with the bracket hole. Remove the cabinet body and install the top bracket, again catching the
           wall stud as described above.(See Figure 1)    
4. Install the Body. Place the enclosed screws (8-32 x 5/8 PPH) [Item Number 12] through the Clear Washer [Item Number 11]     
          per Figure 2 and attach the body to the mounting brackets. Install the Screw Cap when completed. 
5. Install the Spacers provided with double sided tape. Remove the vinyl coating from the adhesive tape on ONE side of the    
          spacer. IMPORTANT PLACEMENT: Place the spacers on the cabinet body, so that the spacer is flush to the back of the   
          body, per Figure 3. 

    Do not place the spacer on the hinge bracket.  Repeat on both sides, until all 6 spacers (three on each side) are placed. 
6. Install the Side Mirrors.  Remove the remaining vinyl coating from the adhesive tape.  
          IMPORTANT TECHNIQUE:  Install the Side Mirrors per Figure 4.  
7. Install the Door.  Attach the door with the screws provided (8-32 x ‘1/4 Phillips Flat Head) [Item Number 1]. 
     NOTE: To secure screws, it is RECOMMENDED the use of  LOCKTITE.   
8. Install the Shelf Supports, Shelves, and Hole Plugs provided. See page 4 for installation instructions.  



Recessed Mount 
Assembly Diagram 

Attach Door by
following Sequence 
above.

Item
 No Part Description Qty Part Number 

1 Screw (8-32x1/4PFHMS, TRUSS) 5 10-168-01 

2 Door, Oval Mirror Bevel* 1 107-680-01 

3 Screw (8-1 3/4 PPH) 4 10-231 

 10-581-133ssalG ,flehS4

 10-248-9202troppuS flehS5

6 Screw Washer,  Clear 6 29-827-03 

7 Screw, Cap White 6 29-827-01 

8 Screw (#6-32 x 3/16") 2 10-260-01 

9 Flange Return (WH) 1 111-739-01WH 


	1
	2
	3



